val:m L, = E‘"’l‘”" = {Vcc];Joﬁ”lLT OJDHL L=

—\

=/ ’V“,: 0.o4y 1 e = v Ly Ul”/..c}t\/h_ t(,uL,é V..

[B]

Pz GM\V,,,1 =) Em /. =) P_=6,,= 0,000 fu,

Voo | G Bon  Pona tidacp P = 000254 = Uokw

3. Cangg 2 POMVA S 5 =05

%—. 11\/'-':1_:09’.)((1))=> '():D Cmad_ 7Mﬂou‘mln:}l m/)“l*)]'\fa,

Vo =V =4/,
2 ] , —(5‘1>*— O__S
S = V)'I} A= I‘1 = E - = 0s {-

v, = (R + XJF/'J)I}JrV =(0.01+4 010\16)0.5 £ 1210054002 ju,

V) = 140 = 4s 30k V= Boky
M’ B \J’l‘eoszw‘of = Lioos f.d. > 1006 6okV = 603KV

g. . t= Iyl -lyl= 6o.3kv- 30KV = %0,3kvV !

Nova Seccdo 1 Pagina 1



